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Abstract

Audio Secret Sharering

Shuzo Tai

In recent years a communication infra-structure is progress. The activities an
exchange of digital contents is done. Now how to management of a copyright becomes
a problem. In management of a copyright becomes a problem The demand that I want
to offer voice information to Specific person when there are many and unspecified people
is thought In this research I paid attention that the sound is a wave. Then I have
examined about Audio Secret Sharering system that the principle of superposition and
the digital signal processing were used. I have proposed that Audio Secret Sharering
System. And Ihave done computer simulation that Audio Secret Sharering system were
used. As aresult Audio Secret Sharering System has operates well that the mechanism
to materialize a communication hiding. but there is a problem in reproduction of

original signal

key words Audio Secret Sharering System  The principle of superposition  The

digital signal processing
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